Geometrics Knowledgebase

What is detection range of the magnetometer?

This is a very common questions and our best answer is to have you read the Applications Manual for
Portable Magnetometers which is available from our website. To give an idea, the rule of thumb is that 1 ton
of steel will give 1nT at 100 ft. The distortion caused by the steel in the earth s field falls off as the cube with
distance and is linear with mass. Therefore, at 50 ft, 250 lbs will give 1nT, at 25 ft 30 lbs will give 1nT, at 12 ft
4 |bs will give 1nT. Cables and pipelines fall of at somewhat a different rate (inverse square) so can be seen
further for a given mass. See page 45 of the AMPM attached here for your edification.
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